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Each question carries four options namely (A), (B), (C) and (D). Choose one correct option

and mark in appropriate place in the OMR Answer Sheet.

@eaGleurm eferreln@Eibd (A), (B), (C) womibd (D) sréttm mrem@ eSlenl mer
sruuL_(Rererar. sflwrer elem_mu CaiE0s5HSs OMR elenLGsnefls
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In one of the Maxwell's relations [.:‘:‘%P]T equals :

(A [HEVHT)\; : (E) _{a%v)s (©) _(E}%T}[J (L) [EF/IHTL,I'

Cinden@eud sr_fuseio gemmrear {B%P)T Qereumuaiaraibile 6THME SLb :
(A) {EEVHT)U (B) _(a%‘f}s (C) _(B%T)p (D) (B%T‘]'.,r

Which of the following are the substitutes for pressure and concentration to explain the
behaviour of real gas and nor-ideal solution :

(A) activity coefficient and activity

(B) activity and fugacity

(C) fugacity and activity coefficient

(D) fugacity and activity

Quéy aryssda LHmDL Guoys sapsdlar LaTysale SiESHD WHID
sy_relpafiu udd @ Gerpser : :

(A) Qafla) Gemsw woge Gsflal

() Gegflay wHyDd ST L

(©) CisErd g nppin Aedlel (GEaT LD

(D) Ciusréiiyg wpmn Qeblay

Tonic strength of 0.2 molal BaCly is :

(A) p=04 (B) 0.8 (C) 06 (D) 0.2
0.2 Cuomeomd Cuilwb @Camariyan sjuei uslleno :

(A) p=04 (B) 0.8 (€) 0.6 (D) 02

I'he root mean square velucily of TT, molecule at B Kis:

(A) 1840 ms™? B 142ms"! (C) 840 ms™ ! (D) 1840 ms™"
enan_iqrmen wpasmflar syrefl aifés gped flens Causid 273 K Geautufencouich :
(A) 1840 ms™! B) 1842ms™! (O 840 ms™! (D) 1840 ms~1




Which of the following equation is obtained by the replacement of umversal constants like

RwkhandN?

(A) Stokes-Finstein

(B) Sackur-Tetrnde m:_runﬂnm
(C) Stark Einstein equation
(D) Stokes equation

emaigrd  Foarur@saa ThE Ewarun iy d Qurgieirer wrildsarrear

Romkhwopybd N g f&d Qupliupdos?
(A)  GOL - meneie e

(B) #&ef - QL Gy swetun(

(C) ewLmih - memahiesr Fuemum

(D) ewGrréey Eosmum()

Which of the following pair used to prepare Ziegler Natta catalyst ?

(A) BGAL+TICl, (B) ELAI+TICl, (C) ELAI+TiCl, (D) Et;Al+Ti Cl,
Epsa orhs Eenewr fisart BLLT eilenar W sdlenws siurfisd Liwie (Gl ma?
@) ELAI+TICl,  (B) EuAl+TiCl (O EwAl+TIClL (D) EGAl4+T ql,

Which one of the following statements on ferrocene is incorrect ?
(A) Ferrocene is diamagnetic

(B) Dipolemoment is zero

(C)  Obtained when C.H: and reduced iron heated at 300°C
(D) Synthesised from C;H; MgBr and FeCl,

QAuiCrrieer il Bpasem_ sppsafld erg seumrang?
(&) CuirGrréer enwir mriks FETEnLDn [Ei_iLig,)

(B) o CurédGbmosmr LhRILILD

(©) GH; opgid @@EssiUCL Gimibeu 300°C & @HuGsaCurs & merdng.

(D) CH; MgBr wmmy b FeCl, @lenemig; Gupiu@Ans.




10.

11.

12.

If half life period is 100 years, average life is nearly
(A) Z0yemrs (B} 90 years (C) 100 years (D) 144 years

i@y gl ared 100 auhL RISET crafilay, symEfl DLET ETHSEnEN SU(HImseT

(A) 70 aumLruger (B) 20 eugpLmsmer (C) 100 qu(mLrhiger (D) 144 Gl (LTI &ET

For HaPO, *IP NMR spectrum shows a -
[ﬁ};Quartet (B) Quintet (C) Doublet (D) Singlet
H,PO, gpadamien 1P NMR Bipeiia N FenEEa an 6TE | HenE |

(&) BrEnE (B b3 © Qe (D) gpeim

Which among the following microstates are possible for et ojon ?

(A) 45 (B) 120 () 180 (D) 240
R+ swalEE Spsser_apble snsdiomen Hiam Blenamar e ppemen?
(A) 45 By 120 (€) 180 (D) 240

Who wrote “The God of Small Things” ?
(A) Arundhati Roy (B) Salman Rushdie
{C} R.K. Marayanan . (D) K.R. Narayanan

“The God of Small Things’ eTenm myedlar apdlflwi -
(A) SAHHSHITIO (B) &AILDIEN (hegin
(C) =i Gs. prymLSTEr (D) Cs.mpf. HrymLIcsen

When sodium chloride is added to water, the solution boils :
(A} exactly at 100°C (B) above 100°C

(C) belowr 10°C (D) at 0°C
Gamg i EGameny() (2-Llenen) Efic Gaitsme Gung), seradan QaEmdiflena :
(A) sflwurs 100°C (B) 100°C efl Sifaid
(C) 100°C el Harmay (D) sflwrs 0°C




13. NH 7 Connects :
(A) Delhi to Kanyakumari
(B) Kashmir to Kanyakumari
(C) Agra to Kanyakumari
(D) Varanasi to Kanyakumari
NH 7 Geamaarapany @aenssns :
(A) Quéd wpyh serafliurgof
B) sncybi whpd serafiumsod
(C) spdyr wimb sareflurgodf
(D) currenmrdl whmis sarafiumgwod
14. The youngest nominee for the nobel peace prize who popularly known for women's education
rights ;
[f; Mur-ul-fatirma (B) Malala
(C) Yasmin (D) MNur-ul-faritha
Crrue smnd uffpsrs Hs Gearb augeo ufipsierssiur L Quan swd
o fepndsrs sHluliu@uedr
(A) B - e~ LTEElor (B) beomem
(C)  wmreiblen D Bf-2d-Suflgr
15. The East India Company of England got permission to trade in India during the period of :
(A) Shahjahan (B) Jahangir (C} Bahadur Shah (D) Aurangzeb
syiifle SpsdpHu snCuall LTmaLL HLEHS srasda EHHureld eemfisb
Qainyin e feovew Gunmng?
(A) egrm&Ten (B) manrEds (C) uLssIT g (D) gerrmsdl
16. When excess of sodium is burnt in chiorine we get

L

{A) blue NaCl (B) yellow NaCl

(C) white NaCl D) green NaCl

sty e Cergusms gCemfigyLan orila@LGurgl, BO&S Henr_Cigm)
(A) fofp NaCl B)  wgsar Him NaCl

(C) Qeucmenwfin NaCl (D) uées Hip NaCl




17. - Which one of the following is not p-type non-stoichiometric semiconductors 7

18.

19.

20.

(A) FeO (B) Cus0 (€) NiO (D) CdS I
Eipssan_aupld erg) p - auens GHESTETTDMD @Gen sigphl Gdoena?
(A) FeO (B Cu,0 (C) NiO D) CdS 1

Ruby laser is obtained when some aluminium icns of Al,Os are replaced by :
(a) crt {Hje V¥ () M2t D) €477 |
mid Gast, AlO; @ fla eigblefiub Suefamer Epssar . ahs Sl
@)L Lo gegETed o meurdmg ?

(ay Lt "1 by (C) Mnet (D) Crot

Ferromagnetism of metals is lost at

Sl il e e o W e

(A) Critical temperature
(B} Curie temperature

(C) Transition temperature
(D) Eutectic temperature

2 Garstiad Spssare THS Qastiuflamaulla EUrGrr AThHSS & GO en LD G0 UK

Gy sflermen?

(A) Menswowormy Gauliglana

®) &ufl Gaitiuflans

(€ Bupue Heawrhp Qeusuflenan
(D) poams Aeuliuflena

Which ane of the following effects is shown by super conductors

(A) Meissner (B) Trans {C) Cotton (D)  Polar

o ke sLsHealld SpssamL s eflenaray sremULBing?

(A) Quouliseant (B) i pmemnein (C) smiLan (D) ppenanay
QUK MK |




21.

22.

23.

24,

The Learning of a particular task facilitates subsequent learning of another task is called :
(A) Negative transfer of learning (B) Zero transfer of learning

(C) 7 Positive transfer Ir:n" learning (D} None of the above

@ EHlull L Gaume shps Gerent wpbinrm Ceaume siushs o galurs
@muug ereueurny anpsslu@EDE?

(A) erdlfwan sHmsd wrHLD (B) W@w &mpe wrHDL

(C) Cple wrer sppa wrHpmbd (D) Eeves ey Edhenam

Theory of hierarchical of human needs is proposed by :

(A) Morgan (BY Murry

(C) Atkinson (D) Abraham Maslow
wafls Coameusaner e wiiBleney Ly Cariurrs o meunsdl et
(A) wrTEen (B) ppiGy

(C) < Réneven (D) =gplirsmd wrsnGear

Which is not defence mechanisms ?

{A) Rationalization (B) Compensation
{C) Projection I[D} Conflict
SOETUL| BLSNS Sdanss )7

(A) asrrembd &nHY&sa B) i GClelgo

(C) upsQzigd (D) weruGurrriliib

Which of the following is not a biological factor of personality ?
(A) Physique (B) Intelligence

(C) Nervous system (D) Chemague
Bandle ey sperenollar eullflllud srrefl eida

(A) oL & anfbs LaTser (B) miaseasriley

(C) mrwy e aib (D) Geuds Gluimgs sen




35. The formula used to arrive 1Q1s :
e i e
(A) &‘i * 100 E‘”:':':‘ (B) EA 100
M.A

(€] M.AxC.AX100 (D) M.AXC.A-100

pesmeRTiley e samtad (Do GEEAND THl7

B ol P ot 28

(C) enalllF X STeralLS x100 (D) InanauiLig X STaailig — 100
26. Which of the following is aromatic 7

(A) Eyclupentadien}'l cation

(B) [12] annulene

(C) eyclopentadienyl anion

(D) cyclopentadiene

emeumLISUDMIET ETEl =Gymorigé geems Dereg?

(A) euememw QusT_TenLenanand) G &S| wa

(B) [12] gpieden

(C)¢ euenariLl Gl TenL_aneneney oTEiT REXINLE 01

(D) euaneml () L1007 L Tt L G
27. Which of the following undergo electrophilic substitution more readily ?

(A) Nitrobenzene (B) Furan

(C) Pyridine (D) Tropylium cation

Qeneu(r e DEIET a5 GraéL e sauir UASLH elleeneni \Ss erafigns gmb?
(A) enpl GyrLcnden (B}  o-tbment

(©) Gffhgem @) L OyrnQefluud G s

SVK, MKI




28.

29.

Mono nitration of aniline in strong acids give -
(A)” m-nitroaniline

(B) p-nitroaniline

(C)  o-nitroaniline

(D} benzene diazonium salt

adlens BlEHhs bwsder eaalleelis waldaar ppamp aplGrr ghpib
Qe nGurg Hen s Qurgser ;

(A) m el Gy siaflebem

(B) pepLGrr siafleler

(C) o empl Gyr aflalen

(D) Quenfen e WGsraflwibn 2.0y

The mechanism of the reaction

chiorobenzene + NaNH, _ 1. NH; . aniline is :

(A) aromatic bimolecular nucleophilic substitution

(B) aromatic unimolecular nucleaphilic swhstitution

(C) elimination addition reaction

(D) aromatic electrophilic substitution

GEemerduendern + NaNH, _lig NHy | gieflclen ereimy aflenemulen cenemanf :
(A) SCymwor_iqs Emepadsmn smaai LHd @ aSener

(B) =Cymorlisé @ apadsmn smaat LSS H e

(C) Hesd Csrgped eflanan

(D) =Crmorlgé erasgrer saf LHSE aflamen




30.

31.

32.

Which of the following product is formed in the reaction

e '\,h-l-
L | [ 4 — P L —
T e H B e - :
CHS ‘—El: — ti:.‘_CHE' e ] :-1- B o ‘L
OH DOH., . E ?r"-h:_
-t e,
Cels H o 3
-
(A) CH; €O~ C—CH (B) CHy-C-CO-CH,
H Cells
‘ﬁ G
(C) CH;~C-CO-CeH (D) H-C-C-CHy
CHg 0 CH,

Glareugstd eflanamiler erps eflenar Cummer ani_diggo

T s H*
CHz~C—C~CHy ?
OH OH
B H
(A) CH;-CO- C—CH, (8) CH;~C-Q0-CH;
H CeHs
H CeHs
(O CH;—C-C0-CgH, (D), H=C=C-CH,
CH3 CI_IEI-

The General order of solubility of halides in liquid ammonia s -

() I">B~>F~ (B} I">F->Br~ () BE SRR &~ 5 F— = -
Areu oCurefluredd Shaem am e[ ser sanrujh Sper auflens -

(&) T- 2B >F~ (@) I 2P SBr— (© F >Br>I" (D) Br >F->I-

Ammonium chloride in liquid ammonia will act as afan:
(A) acid (B) base (C) salt (D) double salt
flyeu HGwraflureld: SCorafliuk ECaTTe TR GaLLIfib FHenenio ;

(A) ySlenn (B) &mrib (C) =0y (D) @rien iy




35.

36.

R —

Bond order in CO is :

(A) 2 (By 25 5 e e Ly 3

CO & SlanerTiiL] eretr :

(a) 2 (B) 25 © 15 D 3

According to band theory of bonding, eonduction occurs in very good conductors because

(A) Valence band is full

(B) Valence band and conduction hand overlap

(C) Band gap is appreciable

(D) Band gap is small

LLeL & Gararensulemn ., e SLESHID Aurmer aLsgieugharar sTreT, -
(A) Qeenfipdr Ul Epod £ _dramsy

(B) Glanamrdlmer LlenL 10pmis SLBFD Llan GopGlummss 2 areng).

([C) e Gen Cauafl oiflmn

(D) ulesr Een Qeuafl Genpeay

Which one of the fu]]nwing defect increases the dielectric constant of the rmaterial ?

(A) + Frenkel (B) Schottky

(C) Both (A) and (B) (D) None of the above

SlbsaiT_ eTiig @@pLm’_Lme) Uigstiseafien @mullen wpenar wmled] aiflsflsdpg ?
(A) Quren@ad (B} &L rgd

(C)  (A) LOmb (B) (D) ergied Glasa

Aryl halides are less reactive towards Sy reactions as compared to alkyl halides due to :
(A) formation of more stable carbocation

(B) resonance stabilization

(C) long carbon - halogen bond

(D) cannot be predicted

Zasd bemmamL e, sy Clanama® Gosairs smseai LSl ([ flanen
ufleusphemer sryeamb ;

(A) =dls flevariys samenoweu sriudr Coindlen siviafl o mairgsa

(B), oL aflenrey flenculiys Femanin

(C) fls ferd Qerar@erar smiLdr -Clanemer 19enerTiiy

(D) Fam @uienmrs




37.

38,

39.

In the given reaction, "X is -

Cl C€H,O0H
I/\GI(‘ f:l equivnlml}
OCH; OCH, l

a a Cl A ocH
fA:-C:[ ®) C: © (:[ S g
DC]’!_], Tl GCH3 C -H\{:']

&g;u ETgmid eflenamullay % oTa ?

Cl
~~,Cl _CH;OH
[ L‘_ {1 equivalent) X
Il o
cl ocH, OcH, Cl

@) @ ®) Q © C:L o o e
OCH,4 Cl OCH; B e |

Dehydrobromination is in the order for the following compounds

e /\.,-’l\ }(1,‘\
(1) (11) (I

A mM>mm>m @ @>ms> (0 (€ @>an>mn ) (1) > (1) > ()
Sipsramib Comnmisealleln HBr 555 eflereruen, cflmanCes aflens erg)?

MB J"‘\Y/J\-._ ></’\,

(1) (11) (1)
(A) (>m>q (B 0> m>@m) (g () >m>@ (p) () > (1) > (1)

Cope reaction is used in the preparation of :
(A)  alkene (B) alkyne (C) alcohol (D)  aldehyde
Carls eflenar ereng SWTAGLSHE LwenLBdlp g 7

(A) syefen B) dwasedr () wasapre (D) zduman®




40.

41.

43,

BOE Ya=10¥
Which is the major product in the following reaction ?
CHs — lJ:H = CH=CH, + HBr — X (major) ‘X’ is :

CH;
(A4) CH;—CH - CH-CH; (B) HsC—CH — CH, - CHy—Br
CH; Br CHj
llir
(C) CH;—'IF —~ CH,CH4 (D) None is correct
CH,

Epsranh eflmeamnid, Sifls sarafle Qumb sfamert Gluirgmer erg ?
CHz,,—(‘:H CH = CH; + HBr — X (248ls =yamefilan) ‘X eramuigy -

CH;,
(A) CH;—CH - CH-CHj (B) H;C—CH - CH,-CH, Br
{:I_IS Ef CHB
Ilir
(C) CH;3- ? — CH5CH, (D) ergieyb &l Elsbeney
CHg

The electron affinity of the following elements can be arranged :

A) A>0>C>N (B) CA>0>N>C
(C) dA>N=>=C>0 (D) A>C>g=>N
Spasan_ gaflinisalen erad rrar BICL Seng erduairyy auflensts LBSgamd ?
(A) C1>0>C>N B) Cl>0>N>C
(© C>N>C>0 (D) Cl>C>0>N

Which of the following species has lowest 1onisation potential ?

(A) O B O, © 0,7+ D) O,"
Epdaar_auhile Gempeurar suefiurss, e bnnea Clarar_g erg)?
@A) © ® O, )0y D) 0,




43.

44.

45.

The polarity in H X bond is in the following order :
(A) HF >HBr > HCl > HI (B) HF> HCl > HBr > HI
(C) HF > HI>HC > HBr (D) HF > HBr > HI > HCl

SpsaseanT_cupdley H—X DNenerriiGd 2dls paaey Leram. saeawwld sfluiren
sufilens :

(A) HF > HBr > HCl > HI (B) HF>HCl> HBr> HI
(C) HF>HI>HCl > HBr (D) HF>HBr>HI > H(l

Choose the correct order of bond energies in the following series :

(A) C=0%0-0>C O (B) C=0x>C-0>0=0

(C) €C-0>0=0>C=0 (D) O=0>C-0>C=0
Spsam_eupiley sflwurar Geneur i < 0nd aflesmus CarbOs@sseab :
(A) C=0>0=03>C-0 (B) €C=0>C-0>0=0

(C) C-0>0=0>C=0 (D) 0=0>C-0>C=0

Which of the following favours high lattice energy in ionic compounds ?
(A) Small ion, low charge

(B) Small ion, high charge

(C) Large ion, high charge

(D} Large ion, low charge

26 Lgs hnews Qsrar Lgs Cotonhsens® etgswrar fLbsoar ers)?
(A) Sdlw swefl, @ameurar Wdarseaio

(B) SAflw swefl, sifls Barsano

(€) Guflu swell, =ifls Bdsamw

(D) Gluflw =jwed EHenneumer WleN&enio




46. What minimum tube voltage would be required to excite the K, and L, series of lmes tor
urardum ?
(A) 3.59 and no line | (B) 674 and 9.67
(€) 15 and 1.75 (D) 112and 172
ﬂmm@mm@¢@m+mﬁ5 }nﬂﬁq‘u_ﬁg':uﬂu:@?@da Kp wpmib Ly auflengudied Flarieym
2 gayb @opps NaEWss UL BED?
(A) 359 vppw Carpsafiaaa (B) 674 wHmD 9.67
(C) 15 wpmib 1.75 (D) 112 wpmid 17.2
47. Which of the following solvents have maximum eluting power ?
(A) water (B) acetone
(C) chloroform (D) methanol
Spsacraupdle ks saruurabes s INssLLED sarelo o greng)?
(a) Er (B) & GLman
(C) @CarrGyrumib (D) Gwsdd 2 osanre
48. 1he potenual corresponding to half the eurrent in e pulaiogram is called as :

(A) one fourth of the potential
(B) half-wave potential

(C) one and half potential

(D) limiting potential

CurCarCrrdlpmle urduere) BaGam’ L sfn@s Gsm iy w Weran(psso
ereueuny enpdsliubhdmng ?

(A) Brendled gah oL rale Uleblboi| Lyt
(B) @] - B0Q S(PSHLD

(C) gem wHHD Sieoy WlemaripFHDd

(D) s’ @oOufssiul L Wenanpssd




49. In the nuclear reaction : ;n —» :F + X whatis X ?

e ﬂ
(A) yrays (@ p i3 ™ %
2. L& eflanen []]n — }P + X, X eTeiUg) eTesman?

(A) yafi ®) H* (© % © l%

50. The emission of Y-rays results -
(A) decrease in energy of the nucleus
(B) increase in atomic number of nucleus
(C) decrease in charge of nucleus
(D}  decrease in atomic number of nucleus
v- &8l 2 18paumea TOUFID WwrhHpb
W) = Csmellen wipd Gerpipg
(B) el amellen iaperein 2@ fladpg
Q) 2 amellen Blersann @apdlns
(D) 2l s@ellen = amieram @enpalng

51.  The third Indian Nationa] Congress (1887) Conference was held in

(A) Delhi (B) Bombay (C) Chennai (D) Calcutta
grempiraug AsHu Ceflu sriidiyen (1887) Beol Quip @b ;
(A) QLebed (B) wibumi (ﬁ} Cleerenem (D) sdsssr

32. Who is popularly known as "Gangaikonda ChﬂJl‘ﬂn" ?
(A) Paranthaka I
(B) Rajaraja I
(C) Rajaraja I
(D) Rajendra I
“amiens Qe Cempeir erem <HEMLDSBE IR Lieu T
(A) @rserd urnbss Gemipen
(Bl (psewmb Blrrgorm Ceripes
(C) Erammb Birmearmsn Gemipen
(D) gpgemd @rrCens iy Camipen




M

I53.

Who won the Man of the Series title in 2013 ICC Champions trophy Cricket league ?

(A} M.S. Dhoni (B) Virat Kohli

(C) Shikhar Dhawan ' (D) Ravindra Jadeja

2013 1CC smbiilwer Camiieu Qs Qs fd Cgr i prusen oflimgy Qubneui -
(A) MS. Gsmafl (B) ey Gsmell

(C) aflsir seunen (D) 7eipdly mCLgor

The article which provides special status to the state Jammu and Kashmir ;

(A) Article 340 (B) Article 360 (C) Article 370 (D) Article 390
Bp-sreassi wrfesdne Aoy 2ibgevs) efllEEih wrdiudg srgengHlen Gifley:
(A) Giflay 340 (B) Gflay 360 (C) 9fley 370 (D) Wfifley 390

NCTE stands for :

(A) National Council for Technical Education
(B) National Centre for Teacher Education
(C) National Council for Teacher Education
(D) National Centre for Technical Education
NCTE erénug :

(A)  National Council for Technical Education
(B) National Centre for Teacher Education
(C¥ National Council for Teacher Education
(D) National Centre for Technical Education

Increase in temperature and pH changes of protein causes

(A) peptide formation (B)  thermal decomposition

(C) polymerisation (D) denaturation

LG s etaar BT GBI EMENIDS (G5 Lot eﬁlmmqnﬂu.;l.b@_lr@ Geuliuflena wng pH LDIMD LD
REBICE DI

(A) GutieoL® & marsa (B) GaiLssra fangaue s

(C) weuguITge D) gCpésronrsa




97. The mean ionic activity coefficient of a 0.1 molal uni-univalent electrolyte in water at 25°C

58.

is :
(A) 0.755 (BY Y355 (C) 0.0755 (D) 75.5

@hep- @nan Eleardnedr QamamL Wlemu@afl Srsamredlen Geflay 0.1 Clomaire
25°C Glai'n @mmuﬁ]& Egar s=pred Qodlay & G LT Ty

(&) 0.755 (B} 7.85 (C) 0.0755 (D) 75.5

The standard reduction potentials for the reactions
Sn?* +2e~—» Sn,
Sntt +2e~— Sn?t

dare .
(A) 0.136 V and —0.15V (B) —0.136V and 0.15V
(C) 138V and 15V D) 13.6 V and 0.015V

Epssan. doasallar L pBés sipsshisdr
Sn2+ +2e~— Sn,
Snit 4 2e~— gp2+

ennGw ;
(A) 0136 V opmib —0.15V (B) -—0.136V wpmib 0.15V
(C) 136V whmid 1.5V (D) 13.6 V wpmb 0.015V

59. The polarisation for nonpolar molecules like Hy, O, CHy ete. is :

(A) directly proportional to temperature
(B) independent of temperature

(C) dependent of temperature alone

(D) inversely proportional ta temperature

(penaneupm epodamaanten Hy, O, CH, epdlwiaumlen (LPEDETTEY TN S6) ©
(A) Qadiufleauy e Crreildls Qsm_iy

(®  Geuluflumnn QUIMIESS i

(C) Geuin Hlevsvanu oL Hib Glumn &8s

(D) Gauti Hlevsoujein erfielléls Qmmiy




60.

61,

62.

Langmuir [sotherm explains
(A) Ahsorption {(B) Emission (C) Adsorpliun (D) Transidon
arsndlufier pCsrbsmbd dlaégaug -

(A) 2 dlEsaso (B) Gausiladi@sd (C). ureysa (D) Blevarhmin

developed his theory of identical elements to explain transfer of learning,

{A) Pavlov (B) Guthire (C) Woodworth (D) Thorndike

. GTeMUAIT SDHmed W T &Sl en an sflend@eusDETs @558 smmsefler
Cam_ur_genen e (meursdlenr,

(A) urauGames  (B) @aengii (C) eyleuns (D) SriemenL &

involves higher order cognition in the interpretation of sensory information.

(A) IMusion (B) Perception
(C) Sensation (D) Hallucination

Heven 2.auriiay sseudsEnée ellarésd smefla CubulL sfisass
2. u(pdme.

(A) Sfiyssrc & (B) yevensm 4

(C) yevar £ awiray (D) @eQurmer s #




63.

64.

65,

I Problem solving ability improves with age.
II. This improves in terms of both speed and accuracy.
(A) Tie corroet, IT is Wi (B) land]Il are WIong

(C) 1Iis correct, I is wrong (D} TIand II are correct

L f&sa Srsgn Soar aung EMihE eueTr&sl sienL b,

I Beveveriéd] Cousid inpmib gl Geeu Erenrgean <S|EDLDLYLD.

(A) Teflwrer udleé IT seubrengl  (B) I wopgid I seummen L

(C) I sflwrer Life lgapreng) (D) I eoHmbd I sfluirer Lidley

Trial and Error theory was given by :

(A) Ivan Paviov (B) Edward L. Thorndike

(C) Skinner (D) Hull

Cpwienn seufl Qsreranseny eIl iU

(A)  Eeurérm Lima CGarel (B)- erlouil eréh. Sifienen &

(C)  cvdlerant (D) ape

Ebbinghaus experiment is related to -

(A} Curve of memory (B) Curve of forgetting
(C) Curve of learning (D) None of the above
TaRsTalicr Gargenen sTHayL_dn @sm_fye w7

(&) Hlevemey auenarey (B)  pdl sumarey

(C) &ppad aweneray (D) Gema ergiayd Blabenan




66.

67.

Which of the following is not asymmetric compound ?

(A) H,CCH=C=C (CHy), (B) H,C CH=C=CH CH,
ke g 2 Br COOH
(©) (D) @—?{:}}

HOOC COOH B
Spasamaipila erg Srewwpm g eiders Geiinib?
(A) H;CCH=C=C (CH,), (B) H,C CH=C=CH CH,

P o Br COOH
© )

HOOC COOH

I PBr

Conformation of decalins are

(A) Cis - decalin

(B) Trans-decalin

(€) ©is and Trans decalins

(D) Cis-Cis decalins

Gl dselallen euigel aus Byenlol&EeT

(A) @O Uss Gl sseden

(B) ompuEs LSl

(€). @M UEs LIND LINUES ClLssaatser

(D) @ L&s - m uss QL sadansdr




68.  Which of the following conformation of cyclohexane is the most stable ?
(A) * Chair form (B) Boat form
(C) Half-Chair form (D) Twist-boat form

sueneml ClamsGaeatlm@, emeumeaanemidle Wigseyd Blamani s serenowjanL Gulig. 6

BUE BENOLIL| aTH)?
(A) mrpsTed euigeulh (B) LL@ angeubd
() wrdl prvsred angeah C) @pmésuuCC ULE augeb

63. In the given reaction, product ‘A’ is :

Me
H+DH el
Et
Me Et
(A) H cl (B) H—‘——C]
Et Me
Me Me
(©) G+H (D) HD~—|—G
Et _ Et
Sipsremid efleamided, eflenarts Glummer A wrg ?
Me
H-~ —OH =2 , 4
Et
Me Et
(A) H+Cl (B) H+ﬂ
Et Me
Me Me

(C) Cl+1—i (D) HD+G

Et Et




70.

71.

72,

Which of the following compounds will be least reactive to E:.,L reaction :

I : Br [
) @’ ®) ij (©) [j (D) Q
I

é@én@m Raiwiizealld crg Si, eflenarn Ggieurs eflenar yfluih?

I Br Cl
r"'\o
(A) Cj B @’ (© @ (D) \}‘/I

Canflict between two negative goals is :

(A) Avoidance - Avoidance (B) Avoidance - Approach
(C) Approach - Approach (D) None of the above
Epein @ e iflenwirer Gesgsenen_ G wsruGurym b

(4) dlog - dag (B) sl - Sigmis

(C) <@ - AeG (D) @evau ergiaybd Gearene

The Goal of Educational Innovation is :

(A) Positive Change in Learning

(B) Negative Change in Learning

(C) MNever Change in Learning

(D) Both {(A) and (B)

saefll yaewlen @hlsGsramang)

(A) shpelléd lena WwrHmSens 2 (HeuT&Heugl
(B) epmelle @enp LIHpSDE 2 (HeUTHGEIS!
(C) appalld b5 WIHDEMIUID THUGSSTS
(D) (&) wppid (B) @rea®id




73.  Which Ashram presents “Ideal of Human Unity” 2
(A) Ramakrishna Mission (B) Vivekananda Ashram

(C) Sri Aurobindo Ashram (D)  Candhiji Asluau:

55 2pFrow “wafls eHmeawGu DITGUTENS!" cram icns Sy fluedsding 2
(A} @rmodlisagenr wL b (B) aCeusrenisi ayfmon

Q) uf =wrellbsi <pfmow (D) arpSlugser ayfyon

74.  Who first advocated that “Women are equal to men” in Education ?

(A) Vivekanandar (B) Rousseau

(C) Gandhiji (D) Dayanwunla Saraswan

savellbled ay,amise@ Gluar sin” TEn ShEas APsaTanscila Srdl il sseur

(A)  eflGeusreamism (B) mGer

(€) anhdlugsar (D) swrenss eraveus i

75. The preamble of the Indian constitution describes one of the principles as follows -
(A) Equality (B) Monarchi
(C) Differentiate (D) Isolation

Ebdw Sfwd &7  seiiGer rauyanruliler eSleuflgmiug Gem_un(Hsafld
GRENT)

(A) swsgieubd (B) yflany semanio

(€) Ceaupu@sssea (D) seflenolu@ss s

76.  What is the wave length of electron wave determined by Davisson and Germer experiment 7

(A) 165 A {B) 0.165 A (C) 1.65 A (D) 165 A

(A) 165 A B) 0165 A (C) 165 A (D) 165 A




77

78.

79.

How many degenerate energy state present in E=9 hZ/8 m[.2 ?
(A) 9 (B) 8 (©) 6 D) 3
E=9h%/8 mL? eretmp <pdma wi L SHaemer sobleney Dpe cTEBMmaT?

(A) 9 (B) 8 (€} 6 (D) 3

Which one is quantum mechanical operator to x-component of kinetic energy (v,) ?

- h R —h?

(A} 3 T e © Vw O %

8 ".ITEII'I. 8 rrlrn

x - Glevui) EwEs SpnassTa GeauTarL b Cussralssd Cswel eremen?

—ht 32 5t 2 —h?

h
P o = (C) Yoo (B

. V2
2

(A)

E-".sz Snjm

What is the angular momentum value if 1=1 and m=-17

(A) [;w]%' sinfle™ ¢ @ ()" simvei
(©) (ﬁ]’lfirmﬂ D) [i)% sind

=1 HmD m=—1 Asram_ Coran e_hsgdlern &l eramen ?

(A) [E—ij% sinf.e™t ¥ (B) _(53_17)% sing.el ¢

(C) [%)lﬁz cosh (D) (—3--)}5 sinf




80.

81.

Which one is Hamiltonian Operator for a helium atom by perturbation method ?

2 hE dﬂ B - e
B —m (B) P ] —

87" m dn : 8 m i

=hlan, ]l @ ~ 8w, 0
s i el e | — — Y,
(© B ( J My B iye (D) 87%m V2

Gui_ iCusen wemudeh @belld <syemissmar anmblerCLraflusn Qewiall ereman?

it hz d.z i 112 2

(a) —— = B) Vi
8mim dn? (B) m'm ! n
2 2oga.
i L (R B R L
¢) o 5t g2 | =L 2 e i 2 *
(© Swzm{l EJ Sl Y ©) 8wPm 2 5
Furil __KOH 7
OH
(A) Q CsHis)aC<
. (B) (CeHs)o GO0~

Heoo-
(C) @ (D) citric acid

Gluyfles KOH | »

‘ OH
Al <
@ ] - L (B) (CeHipC<
y COO-
HHC{)C} =
(C) 4

|
O
O

6= e

(D) ACAs wydeos




B2.

83.

84.

Curtius rearrangement is :
(A) RCON; — 2, isocyanate M0 . RNH,
(B) RCOOH+HN,_H:504 [ RNH,+CO,+ N,
0
I ol-
(C) R~-C -NHOH——— RNH;,

(D) Hydrazobenzene __H250s . benzidine
ST ig W6 ApEFD enOLIL| ITHDD TETLS) :
(A) RCON; —2 mGerswCean. _H0 | RNH,
(B) RCOOH+HN,_H80: RNH,+CO,+N,

(S R= @ —~NHOH —22"_, RNH,

(D) evap CyrGer Guenfen 1250 . Quenfligen

o naphthyl allyl ether % ?

(A) 4-allyl-l1-naphthol (B) Z-allyl-1-naphthol
(C) 1l-allyl-2-naphthol (D) 8-allyl-1-naphthol
o BTGNS NN FEST % ?

(A) 4-emeuer-1-Brligme {B}I 2-Bjene0ed-1-H T & Te)
(©) 1-jeneued-2-HTLISTE) (D) 8-=jenaveb-1- BTLIFGTED

Trans-3, 4-dimethylcyclobutene _ & , ?

(A) «is, cis-2, 4hexadiene

(B) «is, trans-2, 4-hexadiene

(C) trans, trans-2, 4-hexadiene

(I?) mixtare of the cis, cis and trans, trans-2, 4-hexadiene

U resten -3, 4- et @ingflds euenemu Gy weir 4, 7
(A) S, Aev -2, 4- Qamdenmen_ewmsn

(B)- Hev, Lyranen-2, 4-Qapssrean,_eme

(C) Lymewein, Lyraien-2, 4-ClamsEren._anen

(D) &Aeb, fev wiHmLd Lyreen, Lyrenen -2, 4 Capésman_amr Hoana




85.

86.

87.

Fries rearrangement is the conversion of :

(A) phenyl allyl ether to o-allyl phenol

(B) hydrazobenzene to benzidine

(€) 1, 2-glycols to ketone or aldehyde in the presence of acids

(D)  aryl esters to o and p-hydroxy ketones in the presence of Lovwis acids

Lienfan Sienitoliny omhmih ereLg) Mlemaugpd omHow

(A) Hewerdd emeved FEZHT 0 Bienadd SeTeores LOTmDLD

(B) ewan_gCarQuenSenen Quicsd 460 By DAHDLD

© 12 dlewasraw gdyman rsCar, FLCLremmaCourr SH161e0d Hlgir
penaflenauflay wrmpin '

(D) endl eiflwsddar aperafaeaiid DADE) ETev_Lisemar o hmy(h p- SD@ LT
& CLrersams wrppi

Birch reduction of pyridine gives -

(A) 1. 2-dihydropyridine (B) L &-dihydropyridine

(C) piperidine (D) 1,2 3, 6-tetrahydropyridine
Sfligenar Gitéd EEsb QewsbGuirg fen_smih eflenar GDummer ;

(A) 1, 2- eo_emamt Gy WSflig e (B) 1, 4+ enam Cprr Sflig.ebr

Q) Slufger (D) 123 6 Qi jr enamt Gy Gliilig eir

Which is the product formed in the following reaction ?

@] O @] 8]
] ) I
&S @ © L1 o O
b s ‘ b
lemraumid eflenamulisir alllenenGlLymmer wmg)? @ + & o
]
i T I g
(4) @j (B) ' Q) @ij (D)
] ] 1] il
O (8]




89,

30.

Ea of a reaction is zero, k is equal to : (A is the frequency factor) ?
(A) zero (B) infinity < A (D) A-1

2 elenemilen Ea @iy ysui@weamre k &L (A ereiLig) cdliClo s wmiledl)
STED@F Fob?

(A) WRuib (B) pyaildarss € A (D) A-I

For the set of reactions,

() A+B=Sl=C (i) C+B Yoy p, Ky[A][B]=k_[C]~k,(C] [B] is equal to :

(A) d[C]/dt (B) —d[A]/dt (€) d[D]/dt (D) —d[B]/dt
emaigpid aflenenaeten,

®A+B=EaC (i) C+B—t2yp,  KyfAT[B]k_[C)—kyiC] [B] erbiis si0i5 2
(A) d[C]/dt (B) —d[A]/dt (C) d[D]/dt (D) —d[B]/dt

Bronsted equation is :

(A) Ka=GaKa® (B) Ga=KaKa®? (C) KazGaKa® (D) Ga#Ka.Kaf
LapmestenL (B ELoamum(

(A) Ka=GaKa® (B) Ga=KaKaP (C) KazGaKa® (D) Ga#Ka.KaP

Which among the following alkynes will give aldehyde on hydroboration oxidation
reaction ?

(A) CH;—C=C—H (B) CHy-CH,-C=C—H

- (C) HC=CH (D) all the three

Epsremib s o densan, @an_yrCurGrin ballmCGarhn oflemarnean fLpauLD,
Spenaman® Cer@sEn ?
(A) CHy—C=C-H (B) CHy—CH,-C=C-H

(C) HC=CH (D) Si@anggib




92.

93.

94.

Which of the following reagent when treated with alkene gives a diol ?
(A) OsO, (B) HIO,

(C) (CH4COQ), Pb (D) All the three

ShvaEan e E@EW@L‘D ol hes &Il e enLwimed GarBésin?
(A)° 0s0, (B) HIO,

(C) (CHyCO0), Pb (D) eyebiy sryenflses ey

When an alkene reacts with peracid, the product is :
(A) alkane (B) alkyre 1C) epoxide (D) ester
Qui sillodgg e, wydden B eilamety Qummer ergy?

(A) =aCsen (B)  @jaenaen (€) Fursmen® (D) erevi

The most probable product in the following reaction is :

(:L’Br CH,CH,0K
Br :

Trans

(A) {::?Lﬂr (B) @ (€) x:j (D) OJ

Spasremid eflenamiie, erihs eflener) Clum@ger weifls aumiiy_ar Qupeamp?

B .
CI: CHiCH,0K
Br

Trans

(A) @Er (B) ["“I (C) @ (D) f::j[




L Ten R

95. Fischer indole synthesis involves the reaction between :
(A) hydrazine and pyruvic acid
(B)  O-nitrotoluene and diethyl oxalate
(C) phenyl hydrazine and pyruvic acid
(D) O-toludine and formic acid

~olllsi GanG e Aareiiy Spenamih erhe flenananus sTTESS 7
(A) ¢ engmlyfen oML emummeilss SBlewg gL e

(B) O-eop Gyri Gl reppefen LPDID e mHamge -~ menEa (L dr
(C) Sevened enaml_rfer LHmD enLimhellEs SiSlawggL e

(D) O-Glr@isen whgd LrTidss Lblenga) L e

96.  Vinyl type compounds usually undergo,

(A) chain polymerisation (B) step polymerisation

(C)  condensation polymerisation (D)  cross linked polymerisation

Qurgleurs ellenancd euens Gefinriser ThE QNS LeUig ITSS®)I6E 2 1 b 7
(A) smdlell Laugursd (B) uwklunuirs LeOL g UIT 56l

© ©Gnss vaLgwrsd . (D) erdli-erdli @enamriiLy LieUig WITge

97. Which of the following functional group present in epoxy resin ?
(A) Polyester (B}  Polyamide (C) Polyether (D) Polyamine
rUrES QArélefle e eer apsenenis GarEdl erg?
(A) urell erevi (B) wmall Slanwh (C) wmal FEGIT (D) wiredlsblen

98. At what temperature, polyvinyl chloride is prepared from acetylene and hydrochloric acid ?
(A) 250°C (B) 450°C () 350°C (D} 150°C
2 g 6fei whm b AL GCrrgCearrfls =ifla G Bmbg wred eflenare
GCenenr® 2 raun@ o Glaulifleney ereen?
(A) 250°C (B} 450°C (C) 350°C (D) 150°C




£9.

100.

101.

The reaction of ammonium chloride with BCl; at 140°C followed NaBH, give product X.
The product of X is : ;

(A) BNJH; . (B) ByN3H, (C) BsNsHy, (D) ByN,H,

=CGoraflun glarrang® Curyram’ any @GGarrenr@ib 140°C & cflenemfbg, Hew
Cemguwid CurGrr emenlar@er Gmeanhg HeLs@id allaear CQum@mear X an
eUMUILILIT(R erement?

(A)  ByNyH; (B) BaNzH, (C) B3N3Hp, (D) ByNgH,

The molecular formula of monomeric phosphazene is -

(A) PNCI B) PyN,Cl, (C) PNCl (D) PNCL
R Lilg L!I'I'-Eﬁ_;l-uéﬂﬂﬁh eLpe fidn 1) E‘L.Ilru'.ll;ﬂl_ll'r@ 3

(A) PNCI B P;NsCl (C) PNCI (@) PNCl,

The phase diagram for a one - component system is shown below =

What are the number of degree of freedom at the points B, X and Y respectively ?
(A) 0,1and2 (B) 1,0and? (C) 2, Dand1 (D) 0,2and1

e S Sienwlnbhsrer Hlenaanid suenruL b EHlemauHIbTD)

C

S
A
FeuauaruLgsa ydrafladr B, X wihmib ¥ s flweuiiflel &1 igeNenin sr i seer
suflene LS55,

(A) 0.1wppe2 (B) LOwimb2 (C) 2 0whppbdl (D) 0, 2 whmbd 1

ST WAETTY




102. Mixture of water and two salts like (NH,),50, and NH,Cl is an example for :
(A) Three component system (B) Two component system
(C) One component system (D) Zero component systemn
B Grar® e uussarmer (NH,50, wpmb NH,Cl safs soma oabhs
Sjenlilnsren erRSHGSTR :
(A) epeiy sap Siemoliy (B) QO &mpy siemoliy

(C) &m =@ anniy (D) LRW mp Sienwly

103. Among the following detectors which is not the common detector for HPLC ?
(A} FTIR : (B) light scattering |
(C) Photoionization (D) phosphorescence
HPLC & Uameugmid erbs Gurgieurer sem dluurenser Lweau@ssiu@eadodaa?
(A) FTIR (B) qaléfspe

(€) e SwelLrgea (D)  wrenGurrsens

104. DTA and TGA techniques are useful f::l:r g
(A) decomposition and oxidation
(B) reduction and hydrolysis
(C) reduction and oxidation
(D) dp__cnmp-caiﬁﬂn and reduction
DTA whmid TGA Gsmfldm L wpearnser arenE LuaLRSs0UREDE ?
(A) SengeueL g WwHMHD BsatinGahmb
(B) e@&ésb womd SrrhuELy
(C) pBssD LHMDL satlgGarppid ¢
(D) Hengeegd LHMB GHESsD




105. The term fractional crystallinity is related with -

106.

107.

108.

(A) AH and AG

(B) AE and AS

(C) AH;sample and AH; crystal
(D) AE sample and AH crystal

SlenenLig sorge SpssmrL crmaL dn Q&L Qs [Hererg) ?
(A) AH wpmib AG

(B) AE whmib AS

(€)  AH; sribfler wnpid AH; Ligsib

(D) AE amblsr wnmb AH Uk Sib

The electrons which contribute to isomer shift in Mossabauer spectroscopy are -
(A) s-electron (B) p-electron (C) d-electron (D) f-electron
wravLTUT Eimwrenaulled wriblw BLOTDSQI&EE smyaroTear aadl e arg) ?

(A) s-eTewl_gmem (B) p-sreolgmelm  (C) d-srepi_imen (D) f-eralpmehr

The molecule which is IR inactive but\ Raman active -

(A) HQ ®) N, (C) SO, (D) Protein
Epseim_ erhs Geron IR 5@ 2 LULTE pard) proes Fiporeads o Lfib ?
(A) HC (B) N, (C) SO, (D) yrsid

The increase in rotational energy shows, absorption spectrum in
(A) IR region (B) UV region

(C) visible region (D) microwave region

.
e

sP0E gHnd oflefliurd Spsaur 67hs LGS fipwrae dosdpg).
A) R usd (B) UV uss
(O srewmdsminw usd (D) mem s Lgs

SVE, MEU




03. The frequency of UV radiation is greater than -

(A) IR | B macowave

(C) both (A) and (B) B i

UV sglireisdler sifliQeuan Spsan_cupdle aamgai. siflsb :
(A) IR (B) ewsCrrCeusy

(C) (A) bomd (B) @yemr(Hio (D) sramésmiqw Ligd

10. Which of the following diatomic molecules will not give a rotational spectrum ?

(A) CO (B) N, (€} NO (D) HF
fpssan @ sigm Cenohsale evg swnd Bporeaaamwu BITHE7
(A) CO B N, (©Q No (D) HF

11. Which ene of the following is a complex cation 7
(A) Hexa cyano ferrate (III) ion
(B) Hexammine chromium (IIT) nitrate
(C) Hexa cyano ferrate (II) ion
(D) Hexachloro cobaltate (III) ion

Spsew_aupbld Cpr siemara) e org?

(A) Gandsr swlenr QuiByl (1) Sjwuef

(B) Glanssiben @Crmllwib () esp G

Q) Clansst swGanr QuiCr’ (1) ewe

(D) Gapésr GGambGyr Carurd GLL (1) e

12. The structure of [Co (NH) P* is
(A) Square Flanar (B) Tetrahedral (C) Octahedral (D) Triangular

[Co (NH,)sJ*™ e =janioiiy wimey? _
(A) &er sgmbd (B) mreigpd (C) era@mapd (D) (p&Camrantid




113. The correct sequence of groups in assigning R, 5 - configuration in :

(A) NH,, CH,, COOH, H (B) COOH, NH,, CH,, H
(C) NH, COOH, CH; H (D) CHgy NH,, COOH, H
RS- ngmmlluﬁlgj}aarrsﬁ silwiren Qﬁ;l‘l’@é’; sufflensulenen ng!'r‘rj;i:]g,@
(A) NH,, CH,, COOH, H (B) COOH, NH,, CH,, H
(C) NH,, COOH, CH,, H (D) CH,, NH,, COOH, H
CHj
; : ] = H—dp  PBr
. f the chiral tres of the d FEERL i
114. The configuration o chiral centres o given Empaund ¥ 8 N
CH;
(A) 25 3R (B) 25,35 (CY 2R, 3R (D) 2R, 35
CHy
&0 QerpisstiulL. mared enué Conosdlar semo'nlaran s, ;'Il = EI':
CH,
(A) 25, 3R (B) 25, 3S (C) 2R, 3R (D) 2R, 3S
115. Which one of the following is an ‘Z’ - isomer ?
ch Br H3C [
A B : |
H;C Cl HaC H
(<) H>:< : (D) H>'=(CH3
Spser_aupBler ergl ‘Z' wroflugens CuppsTerg? :
H;C Br' HaC cl
A =, B J————x
(@) H. B4 P (®) Br, H ~
Y H,C al. HC HU
i D
O ot e CH, ~
s :
116. The ME spectra of I;Iaz [Fe {CN); NO] complex is doublet, because of the presence of :
(A) Weak o-bond (B) Extensive o-bond
(C) Weak-m-bond (D) Extensive w-bond
Naj, [Fe (CN), NO] sjanexrays GCafio MB Slpaila @rl e asanassen dlan_s58 srramid
(A) e o- SlenawTiiL (B) Sleng o - Slanarriiy

() @menD -w- GepanmiiL (D)  Wens = lanamri




17. The complex ion with maximum CFSE js |
(A) [Co (NH)P* (B) [Mn (HLO)P* (€ [Co (CNS)J?~ (D) [CoF P

Spssam smanas Cotonsald afd sdsorar Lysiye fleneliy = hme
o @rengl ?

19.

(A)

(A)
(B)
(<)
(D)

[Co NH )P+ (B)  [Mn (HO0)P* (€) [Co (CNS), 2~ (D) [CoFg*-

3 CrO-ﬁ"' ion is intensely yellow coloured since the transition is :

Spin allowed

Laporte allowed

Charge transfer

Spin and Laporte forbidden

CrO7” spwafllen eyi oighee BnsSnE srpemiorer wyrenflager gl ?

(A)
(B)

©
(D)

&oDHE signdEsiiu’ g
arGuriCL senndssiulLg
BlenFenio Barey o e Wig)

sLPHE HmD QrGUTTCL wgyndssiu rsg

A Jahn-Teller distortion of | Ti(11,0 El‘t_ln::m;h:- to :
206

(A)
(B)
()
(D)

raise its symmetry
loss of H,0 ligand
reduction of metal to Ti”

remove an electronic degeneracy

mrem - G deri Hflgalemra [Ti{HzD}ﬁ]Hammaqé Gemrwgde eremer wrhmd
Blapdmay

(A)
(B)
(€)
(D)

Frenwn gTpmin

b el @ioc |

2 Cars gRsssHama Til o mairag
F10 gmme flener Fsan




120. What is the g—value for methyl radical shows ESK at 3000 Gauss in a spectrometer og
at 9.23x 10% Hz ? 4

(A) 2.0023 (B) 2.0047 (C)y 2.0069 (D) 2.0000 g

&p(m FSR ;E!mlnnmm+mwmﬂﬂél 3000 G anpsljevar woppn 9.23x10° Hz =
QararL @uéssHa Cwsdd Crysder Bpod aOEEILLLTD 56T g 105k

GTEaTen 7

(A) 2.0023 (B) 2.0047 (©) 2.0069 (D) 2.0000

121. Choose the symmetry operations for NH; molecule :
(A) E2C.aC, (B) E2C,30, € E4C,3C (D) EG e,
NH, epad samissrar Frenw Gewelsar erenay

(8)" ETC a0 @PE e, 0, (T BYC, 3¢ WD) E G

122. What is the selection rule for rotational Raman spectroscopy 7
(A) =1 (B) =land 2 (C) =2 (D) 0
s grosn Hipwraautlar Gaira) el eramen?
(A) =1 (B) =land x2 (C) =2 (D) ©

123. Choose the delocalization energy for trans-1, 3-butadiene using Huckel Mo Theory :

(A) 0472 B (B) 4472PB (C) 4at+4p (D) 40+4472 B
anésd Mo Qarerensufanig ivrmyidEs-1, 3-191" L rent_anaflan o arem._miET 24 Hmenay
Carpbls® :

(A) 0472 B (B) 4472 B (C) 4atdp (D) 4da+4.472 B

124. Third law of thermodynamics implies that :
(A) Sy #0 B) Sjim7.0=0 (© Simrae>0 D) Spmr.e<0
Qe @uissailvieilen ppempreug afldlullamy. :
(A) Siimra0 70 (B) Sjimr.0=0 (©) Spmr0>0 (D) Simr0<0




r25. The chemical potential of ith component of a mxture is :

oL - ()
i (A} II "-aﬂij‘l} P.- nj. {E} . ani ).-t-’ [-_.. nj
oT ) . [ ar |
Fi = — L R
(C} hf:]ni JG,P,l'lj {D} aﬂi JS;T,- l'lj

O samadgidar i seus soflésrar Coud DI(PSELomeng, :

,J_[E,] w(ﬁ‘
(A) Oy ® o )1 B o
“.=(£T_] u.=[_f=‘§“
(O R e O 7 ong)g I, 7]

126. Role of the Teacher in child-centred Education -
(A} Motivate children to learn
(B) Provide a suitable environment
(C) Become active member of the group
(D) All of these
GUbos @iz saailulle < ffwfear Lo
(A) sDpwee, wWreTaUfSamer RASELLI (RS 5 56D
(B) =a&6s EDMIFG LD 2fafigge
€) Gupsllar Aewau@ emuilanrrss Sspsd
(D) Cuhsmibiu SaGED

27. Joyful Leamning is based on the principles of Pedagogy which are entirely based on -
(A)  Activity-based learning (B) Child—centred learning
(C) Examination-centred learning (D) Both (A) and (B)
wHDEAYLar DD eremLg) pssar_ ohs sn9586h ales Car__urfsenar
SAgLUDLLTES Qameim. g,
(A) Gawd euyf shHme B) Gwhms ewws sppe
(C) Csirey endws sHmeD (D) (A) wimd (B) @retr@id




128.

129.

130.

Who is the founder of the Community School viewing the publication of ‘The Village
College’ ?

(A) Ivan [lich {B) Henry Morris
{C) John Dewey : (D) Mahatma Gandhi

'S aflCan srCasy’ ardam Qeuaflem_igen sjgilien W& sepsmul LeTaflenws (pgem
el Himeflweur :

(A) @eumen @)eedls (B) Gapend Guorflaw

(C) gmren Fud (D) warswr stk

The Sainik Schools are a system of schools in India Conceived in 1961 by :
(A} AK. Krishna Menon (B) I.K. Krishna Menon

() S.K. Erishna Menon (D) V.K. Krishna Menon

Epfwreflley 1961 ib ey enseafls LaTelsa aarp udrell @enwliyser
Blaymmw smsda o meunargl.

(A) AK. Smagenr Guoere B) JK Smesenr Cinanen

(C) SK. &imagenr Garsr (D) V.K Smegem Cuoemen

Which Institute is the producer of Educational Television Programme for young children
between 5 and 11 year age group ?

(A) Central Institute of Educational Technology, New Delhi

(B) Central Institute of Educational Technology, Karnataka

(C) Central Institute of Educational Technology, Andhra Pradesh

(D) Central Institute of Educational Technology, Tamil Nadu

5 aowg s 11 anwg aegullarar &pbagsanse sdells Ggraowssnis
Blapsfsamer gurfi&Eb Finsuand g ?

(A) wsHw sdell HUUaflwd Hipauembd, L GlLded

(B) wiflu sdel pruchius Hpeemd, sipnsn

(C) widw sewell mruaiiue Blpeend, < bHrdyGssn

(D) widw sdell FmLLalu Hipeand, sWpETH




131. Which one of the following nuclear reaction pfc-duoes stellar energy ?

(A) %H+ ?H’—;g He + én + energy

(B) 4 %H %g He + 2 ?e + energl;'

(©) 27H—; He

(D) {H > H+ gn

EpsanL 2 s eflavanile ev@Ldar whmae 2 (HEUTEGHEUE 6157
(A) TH+ JH-5He+ in+ 2ppnd

(B) 4 H-3He+ 2 e + DM

(©) 23H-%He

@y B e ln

132. Carbon-14 decays with emission of ;
(A) a-particle (B) PB-particle

(C) vy-particle (D) All the above

sriruen -14 AmsaeLiyb Curg Aaeflambd gser erg_ | -
(A) peur gser (B) Siir giser

(C) srior gisar (D)  CGuopaamwl ﬂmmﬁ@m

133. Which of the following radioisotope used in agriculture ? -

(A) Y0 (B) *Na (C) e (D) %P
Sipasean. GrgCur CarCLruysealia og eflasmusdipeg uaTLES5LDEmS?
(A) 170 (B] 2*Na (C) 5Fe (D) 32p

134. The organometallic compound is used in OXO process :
(4) [HCo (CO)]  (B) [Pt(Et)ClLl~ (C) Mo (Et); NO) (D) [Rh Cl (PPhy))
Spsan sflo 2 Cars Coiomsaid g 2 aCsr populan LwetURS5LLHE ms"?




135. Wilkinson's catalyst used in _
(A) Reduction of alkenes
(B) Oxidation of alkenes
(C) Hydrogenation of alkenes
(D) Ozonolysis of alkenes

eflérflenzen eflenamudie LweTLHSS UGS
(A) eofarzamer gHss

(B) pafasmar sysalmCappn Claiu
(©) opofasmar enapl ymen eppid ety
(D) sdfamema gGerGaensen e

136. The committee that suggested a system of multipurpose education at the secondary stage

was :
(A) Ramamurthi Committee (B} Tarachand Committee
(C) Hunters Committee (D) Hartog Committee
abps sodls Guaurd Garbaw serelley uenGpréE sl gpep
ufGgerEsULLLg?
(4) @rmopiss G (B) &mMTEDS GW
(C) amenLieh @GP (D)  apmiLrs &)

137. By the constitutional amendment of ‘Education’ was placed on the concurrent
list. g
(A) 1974 (B) 1975 (C) 1976 (D) 1977
Sirfuamnlng sLLs Hmsssdeug D a0 ‘adell @ enents )
ulgwellsr GarsauulL gl
(A) 1974 (B) 1975 (C) 1976 (D) 1977

138. “No child below the age of 14 years shall be employed to work..." is mentioned in
of Indian constitution.

(A) Arficle 23 (B) Article 45

(C) Article 30 (D) Article 45 (A)

“14 euugEEG UL L THESSE GRhengS@mLILD Lenfluflé oisss sl mgl...  erenug)
G srflud sreand Aflelld @i oG Oul Hearang).

(A) s_Odifley 23 B) sLOdfey 45

(© sl uGfle) 30 (D) sl unlfle) 45 (A)




139.

140.

141.

NCERT in it's publication documients on, “Social. Moral and Spiriteal values in Education

(1979)° has drawn up values to be inculcated through education.

(A) 90 (B) 84 . (C) 45 (D) 36

NCERT 1979 &ulb gamged Geuefilii L ‘saveiiudd® sups. @uss LHmID menbs
el omisar ererm LSl eflpumssr sdeafluflan apan CurflésluLmbd
GTEN GUENTILINISSHS.

(A) 90 (B) 84 (C) 45 (D) 36

Manpower planning is highly influenced by the pattern of

(A) Exportation (B) Importation

(C) Deportation (D) Migration

weflg s58 Lol auans AeLdur_igamd oigs gresgdpedan s,
(A) gpmwd Calga (B) @mémnd dalsd

(C) @msH meugze (D) @b Quurgsd

The nitration products of quinoline are :

(A) B-nitroquinoline and 5-nitroquinoline

(B) 2 and 4-nitroguinoline

(C) 3 and 8-nitroquinoline

(D) 3 and 5-nitroquinoline

eellGanmdailen enpCrm e eflenetls EUMmHLSEr 618 ?

(A) & ampl Cpr GeallGarrafian whmib 5- axpl Crm el Cenrelan
(B) 2wapb 4 enl Crr @ellCammedan

(C) 3whmd 8- epl Crr GeflGanmalan

(D) 3 w@mb 5- enpl Gy @el Canmelan




142, The ozonolysis products of zingiberine are :
(A) acetaldehyde, acetic acid and laevulic acid
(B) acetone, laevulic acid and succinic acid
(C) acetone, malonic acid and succinic acid
(D} acelaldehyde, phthalic acid and succinic acid

figAGufafen lenGanpp aflenatss GLmmLaseT e1g)?

(A) o tdgean(, =flgd wimb Qasuels sl
® =il CLrdn Qaawyds whpw safallés olab

(C) =fCren, wiCaralls wpmb ssfaflss blaw

(D) wflradgman(®, «~osrlls opnb ssflafiés sjblad

143. Cholesterol contains a double bond and an ‘OH’ group at which position ?

(A) C-3and C-5 (BY C-5andC-3

(C) C-20andC-3 (D) C-4andC-6

Ceraagrrdla @riee. G@aniy wHmbd OH Gsred abs sriuafia
DEHLOIBSHIETETS) :

(A) C-3 whgbdC-5 (8) C-5uwpmidb C-3

(€) C-20 whmb C-3 (D) C-4wigb C-6

144. The radiation density of Black Body radiation calculated by Planck is :

3 2
(A) p{vluag—; : () p{vk% E(v) -
B hy? dv

s hv
gy Pt Dy e
(€ £ EAET—I (D) e-'{ET—i
smnAurme sfidisssster Gems sasdl sHfuss oy igdsanan LU
eTesiLIg)

g
C 2

® P (UJ—W E(v)

(A) p(v) o

h
© P E Ty @) P
i EABT-I

-




45,

147.

A ball {m =250g) is moving with a velocity of 3000 cm s =1, If its position is located with an
uncertainity of 400 nm, what will be the uncertainity in its velocity ?
(A) 6.627%x10% mg—1 (B) 6.62x10™ ms—!

"

(C) 30 ms? (D) 9.1x10-31 mg-1

R UBS (m=250g) 3000 cm s~1. eremp Geausgdler maimg Glesr ainiq (5 56 m g).
SiS@ien_! E)id 400 nm, ElanauSleirenioulle eI bElmmhameD, Sigar Hlenawulsenio
GCeusd wrg?

(A) 6.627 %10~ % mg—1 (B) 6.62x10-3¢ ms—1

(C) 30 ms~! (D) 91x10-31 =1

The general assembly of the UNO proclaimed 1974 as the

(A) World Integration Year (B} World Environment Year
(C) World Population Year (D) World Education Year

LeeT () sl L ety pr@sadr Qurgisa 1974 oyib oy amiqmen
aran siblailseg.

(A) eas anmenn <z ar(h) (B) 2 s snnsmpe oLam

(C) 28 wisdT Cstens e (D) 2as sdall syaE

Learner Controlled Instruction (I.CT) was developed by
(A) Robert Mager (B) BF. Skinner
(C) Sydney L. Pressey (D) Norman A. Cowder

SHGUTT SLELUNLG snssd wenp (LCI)

GTEMLIGUTTE 2 (U Tl L g).
(A) Eomurl Gust (B) BEF. cvdflenamni

(C) #Alaf L. Grsved (D) priGoear A Gsery i




148. In the 19" Century the research by _____ proclaims that in Bengal state of the 5 lakh

149,

150. °

population only 4 women were literates.

(A} Chatterji (B) Rockfeller
(C) Adiseshaiah (D) Adam Smith
19 =pib [HIHDTET g6 ‘ Sjeursaflan spieilanuy eumasrear wrhladdlen 5

QoL s wésar Gsransuiie 4 Cusmadr wiGEL sdafludle) AubBlGhsanT e
@OIOG_ G (Rerergl.

(A) emlL gl (B) praClueeanT

(C) BCGosemaguin (D) =gt b eulbls

“Book illusiony’ is a figural illustration representing which one of the following :
(A) Split attention (B) Span of attention
(C) Division of attention (D) Fluctuation of attention

‘usss Afusar & emea dlardsliuL b CeaypaaapmeT dgaarn @Gillugnes
s andlmal.

(A) U@Ly SeueD (B) &euenm &ifFs

(C) meuen @Iy (D) Scuan 2aFa

Principle of Hedonism’ in Emotional development is a concept that concentrates on :
(A) Pleasant (B) Maturity

(C) Pedagogy (D) Achievement

weardeunps auaniéfuda ‘Qap reflss CaTLUNE)’ crenn SH(hhsl rEmen IOLLOTES
Qaram(® senwndlng?

(a) @eflenws (B) pdisA

(C) abllssa pepmEer (D) eniay
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APPOLO STUDY CENTRE

25, Nandhi Loop Street, West C.I.T.NAGAR,
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Email: appolotnpsccoaching@gmail.com
appolosupport.com, www.appolotraining.com

www.appolo.pbworks.com
PH: 24339436, 42867555, 9840226187, 9789918859




